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SECTION A

1. @ (o A silver grey deposit ot cathode and
reddish browm furmes ar anode
BExplanatione During electrolysis of fused

l2ad bromide, following reaction takes place:

Atcathode Pb™+2 —3 Fb
Sileer grey
At anode Brr—e-——=Er

Br + Br — Br;T
Reddih
browen fumes

& Caution

= Al students must learn the reactions toke place
ot cathode ond anade during elsctrolysis of an
electroiyie.

iy (d Argon
Explanation: HBlectronic configuration  of
Argon (1gAr) = 188
-- It has 8 elecoons in s outermost shell
ie stable electronic configuration and it
belongs to period 3 as it has threa shells. So,
it has zero electron affinity.

@ Related Theory

= The amount of energy relecsed during conwversion of
g reutral gaseocus isoloted otom into o negobvely
changed cnicn by the addition of electron.

{iy (b} Brass
Explanation: Cornposition of Brass
= 80-F0% Cu
40-30% Zn

@ Related Theory

= An alloy is a homogensous mixture of twa or meore
metals or of one or more metals with certain nomr-

mretallic elements.
M (o) Owddotion
Explanation: b — " + ne™ (Cxidation)
v (o) NoHS50,
Explanation: MaHSO, contains hydrogen
atom and it ionises in agqueous solution to
give hudronium jon. So, it is an acid salc

_& Caution

S Crudents st know the diference between acid salt
ond other salts.

vl (o Sinc
Bxplanaton: Finc shows amphoteric nature,
=0, it produces hydrogen on reocting with
alkali as well as with acid.
Zn + 2Ma0OH —— Na;Znl; + HyT

Hot and conc.
(&l

Zn + HS0y —3 ZnS0s + HaT
Aucad)
(b CHZO
Bxplanaton: Molecular formula of an
organic compound
= CH=CO0H
OR
CaHaOn
Rotioof CCHand O =2:4:2
Simpla oo =1-2:1
~. Empirical formula = CH, O

]

G;a Related Theory

= The moleculor formula of compound represents the
agctual number of atoms of different elements pressnt
I ore molecule af the compound

il (d Conc sulphuric acid
Bxplanation: Hudrogen chloride gas is dried
by passing through conc sulphuric acid
The other drying agents like phosphorus
pentoxide, quick lime et can not be used,
since they react with HCL gas.

M (B Ammronium Ritrita
Bxplanaton:

MH NG, —— Myt + 2HLO

Ammonium
nitrite

& Caution

= Srudents mustleam chemics! eguations and progducts

formed
=) o NOz
Explanaton:
PN}y —e—s IPBO + + 4NO; 2 Oy
Leod nitrate

.& Caution

‘= Crugents prust leam and understand the efect of heot
on nitrgtes.
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(@) Hudrogan sulphide
Bxplanation:

FeS + HyS504 — Fe50, + HasT
{c) CipHaz

Bxplanation: General
HydI'IIIIIII"hEIFI = ':nH?n-;?

Ifn=10

then hydrocarbon = CygHz.1043

= CiaHaz

(B dowmward displocement of watear:
Bxplanatore Ethune gas is collected by the

downward displocement of waoter, since it is
insoluble in water.

formula af

(xiv) (dy Graphite

ad)

BExplanatore Grophite is an inert electrode
while copper, nickel and silver are active
electrodas.

{dh Arormic rodius decreases and Rnuclear

charge incregsas,

Bxplanatiore  The ionisation  potental
increasas over a period form left to right
because the atomic rodius decreoses and
nuclear charge increaes, so, more energy is
required to remove the elactron(s).

@ Related Theory

= The energy required to remove an electran from a
neutral isoloted goseous atom and comvert It into @
positively charged goseous Jon s colled lonizadion
potertiol

2..m
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(ay Fountain expeniment

(b} HCL gas is highly soluble in water.
() Armmonia

(d} Blua limnus solution tums red.

(€) Acidic nature

(i)
(1)

(4

SECTION B

fg) 2NHy + 3Cu0—3 3Cu+ 3H;0 + Nyt
Amrnonia Copper
ouide
fb} E-NHQ + 3':1.] —_— N]- + EM‘|4CI.
Ammonia  Chlorine
[excesg)
{o) Call, + 2HO— CacCl, + H,0 + COo,T
(b C4+2H;50, — OO 4+ 2ZH;0 4 ESGET

Caution
= DOp precize in your answer and recd question carefully.

(i)

(O) Cadon is obmined by the loss of
elactron(s), 5o, the number of protons is
rmore than electrons in a cabon. Hence,
elactrons are strongly atoocted by
the nuclews and are pulled inward and
the size deareases. Thus, the cation is
abways smaller than the parent atonn.

(b} Anion is obtoined by the gon of
elactron(s), 5o, the number of electrons

(1)

4. m

':ﬂ} —5 ﬂ}:l -4, E‘::' —+2, {d] -1, |:E":| —3

(@) hudrogen gas

(b} High

(c) loss

(d) tin

() Armmonia

(ah Mi

(b} Cwugen

(0} Elecoronegarivity

(dy Misture of molten alurmina {2055, cryclite
(80%) and flucrspar (207%).

(6) Coordinate bond

H HHHH

I I
H & 6 CCH

ol

Ferntanes
2 H—C—LC—Br

||
H H

Bromosthane
H H

3 H—C—I|3—£3=-C—H

I
H H

But-1-yne
HHOD

H——C—C—H

|
H H

IUFAC name: PFropanal

2 H—C=C—H
IUFA mome : Ethune

(o 1.

(B 1.

is more than nurber of protons in an
anion. The effective pasitve charge in
the nucleus is less, so less inward pull is
experienced and the size expands. Thus,
anion is aways larger than parent abon.

() The sire of the otoms of inert goses
are bigger because the ouwuter shell of
inert gases is complete. They hove
the maximurn number of electrons in
their outer mast orbit, 0, the elactronic
repulsions are madnmurm

(o) 2

(b} covalent

(0} electrostatic

(o) Stainless steel: 73% Fe, 18% Cr,
B% M, 1%C

(b} Bronze: B0% Cu, 18% 5n, 2% In




@ f@H, + d; — 2HA
1val 1vel ol

== 1 wolume of chlorine reacts with 1
volume of hudrogen

1
- 4 litres of chlorine reacts with I:r:at |

of hydrogen

S0, Hudrogen used = 4 litres

Remaining hydrogen =6 - 4 = 2 litres

-» 1 volume of chlorine forms 2 volume
of HCl

2
= 4 litres of chlorine forms = Ix:t =8l

of HCl

Hence, gases after reaction, 8 L HCL and
2l hydrogen ie 10 litres.

When water i= added to the goses
formed, HCl dissolves and residual gos is
2 lires of hydrogens.

(£} Empirical formula of compound = CH
Empirical formula mass =12 +1 =13
Vapour density = 39
Relative  molecular
density = 2
=39x2=78

Relative molecular mass

mass = ‘apour

=
Empirical fermula mass

TB
=53
- Malecular formula of compound =
Empirical formula = n
=CH=6&
= CsHe
iy (o) Dirty green precipitote is formed which
i5 insoluble in excess of MH,OH solution.
(b) Reddish brown precipitate is forrmed
which is insoluble in excess of NH,OH
solution.
(C) White precipitate is formed which is
insoluble in excess of NH40OH solution.
& Caution
= Do practice for such recctions and alss know about
the particular colour of precipitate farmed.
(v} (g} Mitric acid
(b) 3Cu + BHNO;—

Cold and
dilute

ICUMNOS); + 4H0 + IND
(C) Cridising propertu

G

5. 0
Mame of | Inputs BEquation Output
process
Ostwald | Armmonia | 4MHg + 505 Mitric
ProCess + Pt acid
Air - T
AMD + BH10
+ heat
IND + 04
SO0
——— INO;
405 + 2H0 +
05 — 4HNO,

i (g} Pb** ion (Leod ion)
(b} Cu®* jon {Cupric ion)

(i) (@ cH, —2 CHol—o1
. [Crefused [Ceffused
kActhane surlignt,

sungnt,
HO =

ke
CHyCL——L— CHCL,

T
) CH C
Il o+ H —H |
H CH!
Ethuyns Ethens
(Alkuns) (Alksne)
© . CH
I+ H, —— |
EHE CHﬂ
Ethene Ethane
(Alksne) (Alkans)

i) (@) Yellow solid is obtoined.
() Yellow coloured liquid is obtained.
(c) White precipitate is obtoined.

6. ) (o} Electrolytes which allow a large amount

of electriciy to flow through them are
called strong electrolytes.

(k) The process by which polar covalent
compounds are converted into ions, in
aqueous solution, is called ionisation.

I'JI} EC]HE + 5':'3 — 4':.-“'.:'] + EHEG

2 Vol 5 Vol 4 Vol 2 Vol

100 cm? 200 cm?

~. 2 volumes = 100 cm”

1 volume of acetylene = % =50 crm?

Volurne of oxygen react

& volumes of oxygen react = 5 = 50
= 250 cm?




=~ Volume of oxygen required for combuston M (@) CeHysOg canchf0, e 6H,0

=250 crm?
Glucoze
fiy (o) Leod oxide
(t} Silver chloride (£} Nadl + H;504 — NaHS0, + HCL
C
[C) Ammonium nitrate one
(€} 5+ 2H;50y — 3505 + 2H;0
Conc.
.0
Percentoge a Atomie - :
Elzment composition Atomic mass otio Simplest ratio
4 _g3 334
C 40 12 17 11
) 6.7
—_— E_? —_—= 2
H 87 1 1 13
5313 33
— 33 —_—= 1
O 533 16 T 3
Empirical formula = CH,0
Empirical formulamass =12+ 1«2+ 16=30
Molecular mass = 60
Malecular mass
M= Empirical formula mass
= E = 2
30
= Molaculor formula = Empirical formula = n
=CH;O = 2
= C3Hy 07
- +
& Caution 8.0 (@ H
= | pam and understand the rules for determining tha H: I";l H
empirical formul of a compound H
iy (@) CzH:Br+KOH = C;Hy + KBr + HaO ) E—Hﬁﬂ-
Bromo olcoholic  Ethens Potoszium Waoter b
ethone [Hotand bromide & Caution
canc) = Ack students to differenticte between electrons of
(5 C}H_:,DH%EL* CHy + qu unlke atoms Loy emphosis on writing the positive
chorge or regative charge on the jon as required.
Ethanal Ethena Waoter () (@ Sulphur dioxide
(i) (o) Acidified water {water + dil H;50.49 )
(b) H*, OH, 5047, Hy0 Bxplanation: .
[-E:I OH — OH+ €& K;mg + iHl:i—} W+ H]D + SD] |
OH+O0H—3H,0+ 0 (b) 'Chlﬂﬂ'_ﬂe
0+0—0; Explanatone
) (o) When we odd alkaling soluton or a base MnO; + 4HCl 4, MnCly + 2H,0 + Clyt

to soluton of pH 7, then its pH increoses.

conc
(t) An alkaline solution changes red litmus , . .
to blus, it means its pH is graater then 7. (i) (o) Left electrode is oxidising electrode
ie. anode os it is attached to positive
(c) Its pH is less than 7. It means it is an terminal pas

acidic solution that lberotes CO; from . .
Sodium carbonate. (b) CuSOy == Cu™ + 50,

Hy0 = H* + OH




(v}

(c) Reddish brown copper is deposited at
cathode.

(g} Electronic configuratdon of element =
2882

Mumber of walence elecorons = 2

- Group number = 2

(b} Mumber of shells in the element = 4
~. Period nurnber = 4

(c} Mumber of valence electrons = 2
s Walenoy =2




